
6

7
Note: Adjust the screws as shown to level the display.

Adjust to the desired angle then tighten the 
screws using the tool as shown, alternating from 
each screw as you tighten them. 

Note: 

CORNER FULL-MOTION TV WALL MOUNT

INSTALLATION MANUAL

200x100/200x200
300x300/400x200
400x300/400x400

23162 55" 
MAX

45kg
(99lbs)
RATED



A (x1) B (x1) C (x2) D (x2)

4

1

E (x3)
M6

G (x1)

F (x8)

ø 4.5mm
(ø 3/16")

55mm
2.2"

55mm
2.2"( )

ø 10mm
(ø 3/8")

60mm
2.4"

60mm
2.4"( )

2

E

3

B

400mm

30
0
m

m

VESA 400x300

VESA 400x200 

VESA 300x300, 400x400 

300mm

400mm

40
0
m

m

30
0
m

m

Too ShortToo long

5

F

F

C

D

400mm

20
0
m

m

F C

D

C

D

G

W-A (x8)
ST6.3x55

W-B (x8)
Ø10x45

W-C (x8)

M-G 
D8

(x4)M-F 
D6

(x4)

 M-
M5x14

A (x4)  M-
M6x14

B (x4)  M-
M6x30

C (x4)

M-I (x8) 

 M-
M8x30

D (x4)  M-
M8x50

E (x4)

M-H (x8) 

M-G

M-E

M-H

M-I

M-G

M-D
M-C

M-H

M-I

M-A

M-F

4mm

M-B

M-G

A

300-700mm
300-700mm

30
0-7

00m
m

30
0-7

00m
m

X

W-A
W-C W-B

W-C
W-A

A

300-700mm300-700mm

300-7
00m

m

300-7
00m

m


